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1. Introduction

In RAN4#54 meeting, the simulation assumptions for LTE-A co-existence study were agreed as [1]. This contribution presents the simulation results for LTE-A to 1.6MHz (TDD) UTRA (scenario #4) co-existence based on the agreed assumptions and the subsequent e-mail clarification.
2. Scenario and Assumptions
In this contribution we studied the coexistence scenario #4 in [1]. Average 1.6MHz (TDD) UTRA UL/DL throughput losses are provided. 
The parameters of the two uncoordinatedly deployed systems are given in Table 1, while the detailed simulation assumptions can be seen in [2].
Table 1 Summary of simulation scenario
	Scenario #
	Aggressor system
	Victim system
	Simulation frequency
	Environment
	ISD
	Cell Range
	Priority

	4
	DL: 40 MHz, LTE-A
UL: 40 MHz, LTE-A
	1.6MHz UTRA TDD
	2000 MHz
	Urban Area
	750 m
	500 m
	High


3. Simulation Results for Scenario #4
1) Uplink
Simulation result of average 1.6MHz (TDD) UTRA UL throughput loss is presented in Table 2 and Figure 1.
Table 2 1.6MHz (TDD) UTRA UL throughput loss [%]
	 ACIR offset(dB) 
	PC set 1 (%)
	PC set 2 (%)

	-20
	82.35
	9.89

	-15
	58.82
	1.98

	-10
	25.88
	0.52

	-5
	7.06
	0.44

	0
	1.18
	0.22

	5
	1.18
	0.22
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Figure 1 Uplink average capacity loss of 1.6MHz UTRA (TDD)

Simulations are performed for a range of ACIR shifts/offsets (X), from -20 to 15dB. And the uplink ACIR model for coexistence scenario #4 is:  
ACIR 1 = 33.5+X
ACIR 2 = 46.5+X
ACIR 3 =53.5+X
Where ACIR1~3 separately stand for the ACIR values which are determined by the frequency offset between aggressor and victim in the unit of 16RBs.
Based on the simulation results, it is observed that with an ACIR offset of 0dB and either the PC parameters (PC set 1/2) being used: 
· With the above mentioned ACIR model, the average throughput uplink is less than 1% while employing PC se1/set2.

Therefore the UE ACLR model may satisfy coexistence requirement.
2) Downlink
Simulation results of average 1.6MHz (TDD) UTRA DL throughput loss is presented in Table 3 and Figure 2.           
Table 3 1.6MHz (TDD) UTRA DL throughput loss [%] 
	ACIR offset (dB)
	Average (%)

	-20
	100

	-15
	48.5

	-10
	19.5

	-5
	9.55

	0
	2.62

	5
	1.53

	10
	0.60

	15
	0.30
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Figure 2 Downlink average capacity loss of 1.6MHz UTRA (TDD)

Similar with the UL, simulations are performed for a range of ACIR shifts/offsets (X), from -20 to 15dB. And the downlink ACIR model for coexistence scenario #4 is:
ACIR = 46 + X
Based on the simulation results, it is observed that:
· With an ACIR of 46dB, the average throughput loss of downlink is less than 5%;
Therefore the UE ACS model (ACS1: 33.0dB, ACS2: 43.0dB, and ACS3:55.0dB) could satisfy coexistence requirement.
4. Conclusions 

In this contribution, we provided the simulation results of LTE-A to 1.6MHz (TDD) UTRA co-existence study. According those simulation results, the co-existence between LTE-A (aggressor) and 1.6MHz (TDD) UTRA (victim) could be feasible. 
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